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REVIEW KEY VOCABULARY (STuoy THESE) T stens ad

the end.
= variable, p. 2 + verbatmeodel-p-re8— « formula, p. 30
« algebraic expression, p. 2 = rate, unit rate, p. 17 « function, p. 35 cTELMS
+ evaluate an algebraic = equation, inequality, p. 21 * input, output, p. 35
expresslon, p2 -ﬂnﬂn;amﬂmpm-‘—‘ « domain, range, p. 35 « FACT®RS
* power, exponent, base, p. 2 + solution of an equation or -independent-variable p-26L,
= order of operations, p. 8 inequality, p. 22 - dependent-variablep—36—S
« Solve, 2.

‘VOCABULARY EXERCISES
In Exercises 1-3, copy and complete the statement.

1. In the power 712, # is the base and J&, is the exponent.
EQuaTion
2. A(n) A_isastatement that contains the symbol =.
ALGERRAIL EXPEESS|N
3. A(n) A is an expression that includes at least one variable.
4

. WRITING Describe how you can tell by looking at the graph of a function
éhich variable is the input variable and which is the output variable.

When you Lock WT A GaA?H,

ou TP THE X-Axis IS THE (NnEUT AAND
arr—® THE Y-Axiy IS THE OUTROT.
Evaluate Expressions -~ .. ... ... pp27

1
i
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Evaluate the expression.

5. 3+ xwhenx=13 6. y—2wheny= 18 @ 7 %Lg when k = 2 @

8. 401 when w = 0.5 9. z-when z = 20 10. w’ when w = 0.1

z.o‘-“ (.05=Cl A3 mcm.c) :

11. DVD STORAGE A DVD storage sleeve has the shape of a square with an
edge length of 5 inches. What is the area of the front of the sleeve?

XS [ 5 Area s> | Areaof The Trort stesve
\ I3 ISsqN ae I5a™
12, NOTEPAPER You store square notepaper in a cube-shaped box with an
Inside edge length of 3 inches. What is the volume of the box?

£ II (j Volume. = 3® } Uslme, ot box is Q7 avblc . o
2 A1,~5

Apply Order of Operations : oo a-12 |

Evaluate the expression.

13. 12—6+2:‘|2-3=E 4. 1+2-9°2 1t2(8)) :@15. g+2-6+2 31-3-3=@

16. e (4(+l %3) :@ L ”%' =}_._’] 18. 50 — [7 + (32 + 2)] ——
- 2 b A " -
Evaluate the expression when x = 4. o ":3" i (1 * H.Q So-i.s 19—5-‘

19. 15x — 8 20. 3x% + 4 21 2k - 1)?

}S(Q»B—-]:SE 3('*3?‘*"‘{:@ 2(4—|)2’;g.31;@




W writeExpressions  pew

ranslate the verbal phrase into an expression. o 5less than a numberz }_Z_ -k
22. The M_Of anumber k and 7 I.iﬁ 25. 3 times the square of a number X— . —2—'-
24. The quotient of a number k an l K/l?. or K12 J FeX or

26. TOLLROADS A toll road charges trucks a toll of $3 per axle. Write an
expression for the total toll for a truck.

KI: $3/axle m’l

Jamcle: A= AXLES Oh |

27. SCHOOL SUPPLIES You purchase some notebooks for $2.95 each and a
package of pens for $2.19. Write an expression for the total amount (in

dollars) that you spend. Uericbles
KT  $2.45~ NoteRar = & NoTRgawsS L;}.QSN + 19 P ’
$2.19 = Pens P =& PENS

m Write Equations and Inequalities pp.21-26 |

Write an equation or an inequality.

28. The product of a number z and 12 is 60. \E *\L 7O | oe | l12E=k0,
29" The sum of 13 and a number ¢ is at-l-eagt 24. 1347224

Check whether the given number is a solution of the equation or inequality.

30. 3x — 4 =10;|5 Uur.‘i;q 31. 4y — 2 ZZ;E_ S l 32. 2d +4<9d - 7; rm

3(9‘“; :ZF 4(3)-217 2 2 (D44 £4(3)-7
. Jo%z T lodzo T

_ pp.28-33 {

‘EUsea Problem Solving Plan

33. U.S.HISTORY The flag that inspired the national anthem was a rectangle
30 feet wide and 42 feet long. Pieces of the flag have been lost. It is now
30 feet wide and 34 feet long. How many square feet have been lost?

Y4 ZH S
/ LoST 3oxg = 240 LosTR4Y0 3eFT
ofF Th:FLaG
M &y BE+

34. PATTERNS A grocery clerk stacks three rows of cans of fruit for a display.
Each of the top two rows has 2 fewer cans than the row beneath it. There
are 30 cans altogether. How many cans are there in each row?

ot

BoVerea Mowl

hes |2 Ceas
Hea 10cans,
then Blens

Rowd X -Y Ix-bl= 30
fesl T\ X-2 ‘ e +L
Row R Bok Cens 1n ha\haf% __—::"——_ izsfa




 pp.35-40

m Represent Functions as Rules and Tables
[

Make a table for the function. Identify the range of the function.

36. y=3x+1

35 y=x-—
Domain: 0, 2, 3, 5, 10

Domam 10, 12, 15, 20, 21

w0 |2
ﬂS"f 5o

P\G.n«-e. & 7,18,18,1¢
Write a rule for the function.

‘o
l |?-|10 |1c, >

R&nge..' l‘ f ]0’ I 2

R 1 38. | T ;

A Input,x | 0 214 |5 | Input,x | O I 3,46
[
|

. ! e

15 | 201'30 O\\."

[ -
Output,y | 4 ; 6 8 9 | Output,y 0 |

IO

Xy

% / RN
39. Graph the function y = 4x — 3 with domain 1, 2, 3, 4, and 5. . Jé p‘
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40. Write a rule for the function represented by the v
graph. Identify the domain and the range of the

function.
\'Az_
N\ idvysy 3. :
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WoRD>  PeoLems *'s || 12, 33, 34
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ETECE

4a 4+

TomL Fuae = 13 x30 = Q@0 +°
FLAc ,a_eme.-n,-n&a 34 % 3¢ “'fao?o fer
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